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(10% in Total) Suppose the margmal product of labor in the
| economy is given by MPL 20(_)_3 0.5L, while the supply of
| 1abor is 100 + 4w, whéte Ws the jeal wage rate.

(a) Find the market—cl u_r;hﬁ[ age rate. (4%)
| (b) If the government imposes a minimum Wage'of 40.

What’s the amount of ‘i'nvoluntary unemployment? (3%)

{¢) If the government 1mp0 eSer inimufn wage of 60?

What’s the amount ¢£ iﬁv;pl mtary unemployment? (3%)

2. (‘1 0% in Total) A"cpun.try has the per-worker production

functiloﬁ. - | - -
' _—
gl 3 2

where y; is output p'f::r_'&m]kf:r.an_g,hkr is the capital—.]abof ratio.
The depreciation rate is 0.1 and the population growth rate -
* is 0.1. The saving functionis - |
- - J
"“ﬂ orl-?;
R B
b ./ —d
i

T I
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where S; is total national savmg and ¥, is total output

(a)What is the steady—stat’e yalue ﬁf cap1ta1—1abor ratio? (4%)

(b) What is the steady.,sj: e{of output per worker?(B %)
. (c)What is the steady st ue of consumption per worker‘? -
-(_3%)

3. (12% in Total) The foller;'“v-i. g,?,qu fions describea
) Keynesmn model of th é{:ﬁﬂoﬁi 3
Cl= 500 +0. S(Y T) - 100 ”
S F=350-1000
L=0.5%—200(+ :f) -
7 =0.05 (expected IﬁﬂE_UQniJ .

G=200 (govemment f’x_lje __1]

T =200 (tax) | |

I = 1850 (full~employment output) :

M 3560 (nominal money supply) '

(@) Find the: full- empley%m‘“eq ilibrium values of the 'i"eal
interest rate (1), CO}JSL{_J p‘flonjC), investment (), and the

price level (P) (4%)
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(b) Suppose govemment purchases declme to 175 with no
change in taxes. Wh_ag__app eny to the real interest rate,
output consumptlon and jnvestment in the short run - _

[j g run to the real interest

(4%)’? What happex‘

 rate, consumptron, mvestment‘,'and‘ the price level? (4%)

4. (10% in Total) Suppose—th‘ meﬂ y demand funetion is

 M27P=1000+0.2Y 109&(;r+_,)

ot

r= 006 and 7= o..04.'-

| (a) Calculate veloelty" fY=
% |

(b) If the money supply (M : ) is 2600 what is the price

- level? (2%) ‘ ,;ma _
(c) New suppose the-‘rr_eﬂ‘ in er¥ rate rises to 0.11, but Yand

M ¢ are unchanged. What happens to veloc:1ty and the

 price level? (4%) So if the nommal 1nterest rate were te

rise from 0.10to 0. 15 over the course of a year wrth- 4

remammg at 2000, wh %t WUulii the 1nflat10n rate be‘? (2%)

ir"’./...,.:

P
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(d) What is the money ,mu

6. (15% in Total) Consi

SIRFIEE « REERE ; HEABSHE -

-5 (8% in Total) The money supply is $12 5 milhon currency

held by the nonbank publ},c is $2 1’1’11111011, and’ the

reserve-deposit ratio mﬂ
| (a) What is the quantltg; f bt k deposits? (2%)
(b). What is the quantity of bank reserve_s? (2%)

7 (c) What is the quitantity of the monetary base? (2%)

iplier|(please give a number)?

e =TT

. r'"ﬁNo ‘rﬁ tlcal ﬁrms (ﬁrm 1 and ﬂrm

2) that face a linear market demand curve. Bach firm has a
margmal cost of zero and the two firms together. face

dema;nd : _j‘”‘”’“" b )

P=50- 05Q whﬁ?ﬁ? E
L
(a) Fmd the Coumot equ111br1um Q and P for each firm:
(5%)
(b) Fmd the equ111br1um Q and P fcr each firm assurmng that
the ﬁrms collude aq¢ al;"ewth profit equally 5%) .
(c) Contrast the efﬁc&nE}cyﬁ[e markets in (a) and (b)

above. (5%)

BL R
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7 (10% in Total) Sufapose th'at"tﬁe utility fuﬁction
Ulx,y)= \/_ 1ncam.e..15.,eqpaLto 100, and the prices of
X and Y are equal to 10 i j respectively. o
(@ Please ﬁnd the regé d curve for X . (4%) -
(b) _Fi’nd the income t:ompensated demand curve fo‘r X,

(4%)

(c) Ifthe price of X 'ﬁfd‘ s 5 please find the substitution

effect and income e 'e‘dfitbrlff (2%)

Jusmennan

8. (15% in Total) The manufacturmg of paper products causes

damage toa local river when the manufacturmg plant
o [ :
produces . more than M@@-umt in a period. To discourag‘e :

__.,._.l
the plant from producf mare han 1 000 units, the Jocal -
—

.commumty 1S consuiermg placmg a tax on the plant The " -

long—run cost - curve for the paper pro_ducmg firm is;

2

(q: t)h 1

+
1500 tq, where ]7 8 tpgnumber of units of paper

produced and fis the,?er,.umt'ta on papet production.
(a) Ifthe manufactuff:?g“p1‘1_' sell all of its output for $2

What is the firm’s 0pt1mal output 1f the tax is set at zero? -
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metropolitan area. This TRonopk

(5%)
(b) What is the mrmmum tax rate jlecessary to ensure that
the fitm produces no*m ,000 units? (5%)
(¢) How much are the,if{r 's profits reduced by the presence - - .

of atax? (5%) B L

9. (10% in Total) The Metm leptrll Company produces and .

—

drstrlbutes electricity td resrderrtl-l customers 1n the

o

firm is regulated, as are .
bthe_r investor owned electric gompaniés. The companﬁr faces
the following demand and margzinal revenue fimetions:

P= 004 0.01Q et

M.u.l"—'-""

MR = 004002Q e r '

' ot
Its marglnal cost functmn is:

MC = 0. 005 +0. 0075Q

where Q is in m11110ns of kllowatt hours and Pisin dollars

per kﬂowart hour, I‘mcﬁa dead e1ght loss that would result
1f thls company vw-::reml'lcrJ perate as a profit

. W

.maxnmzlng ﬁrm assumlng that P=MC under regulatlon

1




